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等式
⎧
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方程式{不定方程式 ⋯ グラフ

不能方程式

恒等式

(例) 2元1次方程式 2x − y − 1 = 0

(例) 連立方程式 { 2x − y = 1
2x − y = 3
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a 5 6 7 8 …

b 0 -1 -2 -3 …

( )

a 5 1 -1 -5

b 1 5 -5 -1

2 2

OK

( ) 1

(a, b)

a + b = 5 (a, b) a × b = 5 (a, b)

xy = 定数 mx = ny (m, nは互いに素)

xy = 定数 mx = ny

(x + ◯)(y + ◯) = 定数 m(x + ◯) = n(y + ◯)

xy xy

xy = 定数

mx = ny(m, nは互いに素)
m, n y m y = km

mx = kmn
x = kn

{ (kは整数)x
y

= kn
= km

a : b = n : m

m(x + ◯) = n(y + ◯)

mx + ny = a (x, y) m(x + ◯) = n(y + ◯)

mx + ny = a

y =
−mx + a

n

x, y n

x n x = 1, 2, 3, ⋯ , n
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(1) 

(2) 

(3) 

(4) 

(x, y)

xy = 6

xy − 2x + y + 3 = 0

3x = 5y

5x + 3y = 7
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P (x, y) = P (y, x)

和

積

x + y

xy

和

積和

積

x + y + z

xy + yz + zx

xyz
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5 2 3

n +xn yn n

+x5 y5

∴

( + )( + )x3 y3 x2 y2

+x2 y5

= + + +x5 x3y2 x2y3 y5

= + + +x5 y5 x3y2 x2y3

= ( + )( + ) − (x + y)x3 y3 x2 y2 x2y2
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